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Instructions for Candidates

1. Write your Roll No. on the to

P immediately on receipt of
this question paper.

Part A is compulsory and carries 35 marks.

3. Attempt any four questions from Part B.

PART A /

- Eigln signals each requiring 2000 Hz are multiplexed on

0 a single channel using FDM.

How much minimum
bandwidth ig requi

red for the multiplexed channe]
Assuming guard bands are 200 Hy wide. (2)

(b) What is the toncept of Frequency Division Multiplexing?

(2)
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are as follows: .
B.F)|
 d(AB)=4, 4(B,0)=5. 9Py

d(C,D

D)=L d(D,By=3, 4(F,Gy-2, d(GC) (¢




